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M0c2t6Test ‘ SOLUTION

I—

1. (C) Quash and Abrogate are synonyms and rustic
Pastoral are synoyms as will.

2.8 156 - 306 182 : 342

12x13 17x18 13x14 18x19

3.(D)FTU : LNO @ MMN: SGH
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4. (A) 4. Contend 5. Content
1. Continual 3. Continuity

2. Continuous
4,5,1,3,2
5.B) 7x5=35 6-1=5
12x7=84, 8-1=7
9x4=36, 5-1=4
6. (C) Gallant, Chivalrous, Courageous all means
brave where as fearful is antonym of all words.
7. (D) All year are leap year except 2014,

A E LOM PS K NL
s L Sy LR N

|+1

9. (C) NEAR cannot be formed from the word as 'A’
is not there in the word COMPREHEND.

0O s g P

88 4186 83

The first number represents the column where
as second number represents the row.

3, 6, 11,18,27, 38,5163
il

I.B) |4 14 I R B
+3 +5 +7 +9 +11  +13  +15
60 4 60
=8+ =10
12. (C) 5 5 <

13. (D)

14. (A)

15. (B)

16. (D)

17. (C)

18. (D)

7+6=13-1=12
545=10-3=7
4+6=10-5=5
5.6 8 12206
L4 1 4 4 1
+1 +2 +4 +8 +16

Y

5

o

19. (B) @)

All fathers are males where as some engineers

arc

20. (A)

males and some enginers are father as well.
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21. (C) Rannvijay is son-in-law of Rinku. 24. (C) If the third saturday of a month falls on 16%
Rinku" then after computer 7 day there will be next
Aviral— Kratika =Rannvijay" saturday it means fourth saturday.

22. (D) Conclusions : As 16" is saturday it means month would have

. iday. he 3¢ ill
1. There is no direct relation between cows and started from friday. So the 3" wadnesday will be

after 4™ saturday.
25. (A) 1. P is on the right of Q.

chairs. So, it is false.

II. There is no direct relation between cows and

QP
chatrs. So. it s false 2. T is on the Ieft of Q but right of R.
x R RUTQP
5 _Pis on the left of S.
23.(B) 3. P is on the left of S
pP—Q RTQPS

X is in north direction with respect to P. Q s sitting in the middle.
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M0c2t7Test ‘ SOLUTION

I —
1. (A) North : South-west :: East : North-west 9. (C) If 8% of april falls on Monday then, 30* April
2.(A) (7+4)x8=88 of the month will be Tuesday.
6+5 11 =121 30
( ) — =4 weeks + 2 odd days.
(9+3)x7=84 7
3. (D) 2 odd days means Tuesday.
10. (C) Q+9-(1+4)=11-5=6
' G+7-(2+5)=10-7=3
. B+4)-(6+2)=12-8=14
N 11. (C) Tanvir's rank from the last end = 18
Rakesh's rank from Tanvir = (18 + 6)
Only conclusion II follows, .. Rakesh's rank from the start = (42-24)
=18 +1=19"
M 12. (D)
-
10|
M is mother or father of P. sm
4, 6, 10, 18, 34, -
58 U1 om
+2  +4 48  +l6 +32
FLAI R V@D +0O)
6. (B = +J729+81
. ( ) N N N v 4
9 6 5 3 2 = V810
TI GHT = 910 m.
13. (B) 18(9)3
v N N N v
7381 17 133 _
Similarly 9
FLI GHT 36(30)5
LU
30
9 6 3 817 S
ame as
7.M) JUO MYT [LAY] OED 19(A)18
e =1 1918
+5 -5 A
8.(D)A>D|C>B 19 x 18
. . A= A=57
A is definitely taller than B and D. 6
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14. (D) No any specific countrys should not we
banned it may create political issues between
the countries

GEF MKL RPQ VWY
B P L Ll'i% L

16. (A)

17. (C) 9,5.5,75,19, 84
(9%x05+1=55
B5x1H+2=175
(75x)+4=19
(19 x4)+8 =84
(84 x 8) + 16 = 688

18. (C) Let Rajan's present age the x years.
8 years ago
Rajan's age = (x - 8)

5
x-8 = gx.
6x — 48 = 5x
x =48

Rajan's sister is 10 years younger.
then him = (48 — 10)
= 38 years.
19. (C) Thursday (40 m) to Friday (8:30pm)
Time difference = 40 hours and 30 min.
every 3 hours clock gains 20 sec.

Then after 40 hr & 30 min = 270 sec extra gain.
So, correct time is 8 : 30 pm + 4 min + 30 sec.
=8 : 34 min and 30 sec.

20. (A) He took 2 turns to wards south.

——
1
| ~
—<—
21. (B) P
S
T
\%
W
R
Q U

P is standing between T and S.

22. (B) 2(101)5=5%x2=10=1+0=1
8(246)3=8x3=24=2+4=6
3213)7=7x3=21=2+1=3

23'(C)XZ B X FU (JQ N L

+4 +4 +4 T
-2 —3 -4 -5
24. (A) (216, 343, 512) (27, 64, 125)
6%, 7°, 8) (3% 4,5

(e

Either conclusion I or III, and II follow.

25. (B)

Elir= =1 [=] [=]
e g!._ 3
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P —

1. (D) Sunday (3 am) to Tuesday (10 am)
Time difference = 55 hours.
Every 3 hours clock gains 12 sec.
Then after 55 hours = 220 min.

220
So, correct time is 60 = 10hrs + min + 40 sec.

= 10 hrs 3 min. 40 sec.

2. (C) If Lilac will go then Balsamic, will also go
togther.
If woody is added then Mimosaic will never the
added together.
So, Mimosaic and Lilac will not form a
comlination.

33 6 13 24 39 58 8l

+3  +7  +11 +15 +19 <23

N |

4 T4 4 4 4

4. (D) A causes B on C. (not both)
F occurs only if B occurs
D occurs if B or C occurs.
E occurs only if C occurs
J occurs only if E or F occurs.
D causes by on H (Not both)
H occurs if E occurs.
G occurs if F occurs.
ILFand G
G occurs if F occurs and F occurs only if B oc-
curs. If B occurs than reason is A.
II. EandH
H occurs if E occurs and E occurs only if C oc-
curs. If C occurs. than C occurs is A.
I1.D
If G/H occurs than reason is D and if D occurs
than B or C occurs. if B or C occurs than reason
iSA.

SOLUTION

5. (D) All watches sold in the shop are if high stan-
dard where HMT watches are also sold in the
shop.

So, some the HMT watches which are sold in
the shop are of high standard.

6. (A) Always and Never are antonym
where as often and rarely are pairs of antonyms.

7. (D) Happy and sad arc antonyms.

Straight and curve are antonyms as will.

8. (B)

. 8km .

T T
6k | B

O 3km

The shortest distance between start point and end

point = /(8)” +(6)’
= J64+36

= /100 = 10 km

9. (C) Mr./Mrs. Bhaskar Mr./Mrs. Maudgil ~ Mr./Mrs. Jain

Ranu —Raja—Sunil=Seeta_ Rajinder' —Surinder—Geeta— Rakesh”

Ashok—Sanjay’  Raju™—Rita—Sonu"
Rajinder is paternal uncle of Raju.

10. (B) Triangle = Mysore
Circle = Manali

Square = Jammu
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11. (D) Doctor, student and drill master all will be a
human being or a living thing whereas Regiter is
anon living thing.

12. (D) Trans (Transnational) can be formed which
means utending or operating acrors national
loundaries.

13. (A) According to the statement in last 5 year the
air has become extremely polluted and people
are getting ill. so, before also the symptoms of
this illness would but been found.

14. (C)
CENTRAL

bRpibel
DDMU Z M
Similarly

UZ MH KD E
Pyl
TANGLED
15. (A) The legal age of marriage is considered
between 18-20 years because it is considered
that by this age a person is ready to take
responsililites.
16. (A) Naturnal means active at night bats are active
atnight.

Amphilian means animals who can live on both
places.

17.(B)8 x3=24-2=22

4x4=16-5=11
5x6=30-5=35
18. (C) All grandmother are mothers and all mothers
are femalls.
19. (D) By can be added as suffix in all the word and
meaningful word can be formed.
20. (C) If 14th February, 2005 is Monday then, 14th
February 2010 will be.
Number of odd days between 2005 to 2010
=(1+1+1+2+1+1)=77
There 14th February, 2010 will be on Sunday.
21. (D) There are 7 colour in the rainbow
Violet, Indigo, Blue Green, Orangen, Yellow,
Red.
SXCHRER R TE

FE I T | I | 3

Maths | Geography | History | Political Science | Biology
23. (B) || ¢ /
b v v v
c v v v
d s v v
e v v v

24. (D) Mercury, Earth, Saturn, Uranus
1 3 5 7

25. (A) Both Assertion and reason are true and the
reason is the correct explanation of Assertion.
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I—
LMD)acry . [NS LO|

. KMPT :: DIl|3F

| A N
+10 | +10 |
+10 +10
+10 T10

+ +10

2. (C) Rectangle - Managers
Triangle - Women
Circle - Singers
(9 +4) = 13 women are managers.

3. (D)
MATERTI AL J] OY
4. (B) ls la ls l3 ls \L3 ls l3 l3 L s
] XQBOF X I GL V
5.(0) E 40m p
A B,75m C

The distance between AC — BC = AB
(75-40) m= AB
AB=35m
6. (A) Let the total number of boys in the row be x.

- X =[26+%X+14]

X=40+1X
3

X—lX=40
3

SOLUTION

7. (B) A) B> X — False (x> 1 <B — No relation)
B)I<M—>True M>0>R=x>1->M>I)
OA>T>True(I<B<A—>A>1I)

D) B < X — False (X > I < B—>No relation)
E)R>A > False R=X>1<B<A —No
relation)

8. (D)

All the statements together are not sufficient to
answer the question.
9K MH KP RT V
| Mo o o ux
+2 +3 +2 +2
10. (A) A Original series-
ABCDEFGIHJJKLMNOPQRSTUVWXYZ
After reversing 2" half-
ABCDEFGHIJHLMZYXWVUTSRQPON
The required answer:-
8th letter from left end + 7% letter from right
end.
= 15th letter > Y

Gron Ji3

Only III & IV follow.
12.(c) AZB, CYD, EXE [GWH] IVI KUL

-1

11. (C)
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13. (A) Bill Gates is owner of Microsoft and Jerry
Yang is the founder. on owner of Yahoo.

10 18 34 130 258
14. (O | 8¢| N NN ¢

+16 +32 +64 +128

T

15. (D)

16. (B) Girl says. "If snake is not green and if it was
of not 35 it will 55".
"If the snake is not clock then if it was of not 45
it 55",
From both the statement it is clear snake is nei-
ther of 35 or 45 in size it is 55. since, the snake
is 55 it cannot be of green or block. So, snake is
of brown colour and 55 in size.

17. (C) The actual location of polestar is in north.
So, it code language we say
North as the north west.

18. (A) If we open the dice it will be nisiblel in this
manner
The opposit pair will be (C, D) and (A, E).

For adding 30 minutes the weight is reduced to
half.

So, time difference between.

10:35 am and 11:35 am = 1 hours.

So, weight will be reduced twice

4 —
PR

22. (A) All are the ranks of Indian army in
descending order.
5. Lt. General
3. Colonel
2. Coptain

4. Brigadier
1. Major

23. (D) In statement medicine 'X' is ereating ripples
in meidcal field but that is no information about
other medicines.

24. (C) Number of odd days in between 2015 to 2023
=Q+1+1+1+2+1+1)-7
=9-7
=2 odd days
So, 26th August 2023 is thurday + 2 odd days=

| C] | Saturday.
BlA
D 25 © 7 97 ss
E 20 28
L
TORK P e Wi g :
-7 -7 -7 -7 7 14 -7 -7 Same as
20. (C) 48 +24 =72 16.40. T2
30 + 15 =45
40 + 20 = 60 24 32
21. (B) 9 : 05 am - 32g. 8
9:35am - 16g.
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1. (C) B2CD, BC3D, BCD4, B5CD, BCCD
the numbers are in increasing order and

alphabets are fixed 'BC3D".
2® gurTAR

Pl bl
HT1J SB Q
Similarly

WHPKIJ M
3.(B
®) North
902
West East
135°
South
4. (D) V. Tangle IV. Taste
I. Triangle II. Trimmed
III. Tussle
V, IV, L IL 1T
5.(0)

Father can have sons and daughters or both as
well.

6. (B) 121 - (11)*
Rest other number is not square of any number.

SOLUTION

7.D)54+9+3-4=7
=6+3-4
=9-4=5
8. (A) Eloquent is antonym of Inarticulate similarly
Obsolete is antonym of Current.
9.(O)X-Y
X is brother of Y and Y is not the sister of X. So,
Y is the brother of X.
10.(O)Q<T<U<P>S-R=P>Q

11. (A)
1. Qs sitting to the left of P and right of T.
T,Q.P
2. Sis at extreme right end.
T,Q.PS
3. Ris to the immediate left of S.
T,Q.PR S

+1 +1
/_\
2.0 WNM PO @ J@K
T T

+1 +2
NN SN
OB _ARC OV _UW X
+1 +1 +1 +1

13. (C) In statement there is nothing said about the
income of trappers. Where as argument of no is
given the statement.

14. (D) BRINGS cannot be formed from the word
as 'B' is not there in the word SALVAGING

15. (C) Person owned both TV and Car = 55%
Person owned only TV = 75%

Person owned only Car = 70%
.. If person do not own anything
= 100 — [(70+75)-55]

=100 - 90 = 10%
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16. (B) |j III.
17. (B) 3 E

1. A dog is standing to the east of the cow.

2. The cow is sitting to the east of the monkey.
Monkey cow dog.

3. Deer is to the north of monkey.
Deer
Monkey Cow  Dog.

4. The cat is to the south of the dog and to the

cast of the lion. Who is in the south of the cow.
Deer
Monkey Cow

Lion

Dog.

Cat

Here, lion in in south-east direction with respect
to deer.

19. (D)

20. (B) Current's SI unit is Ampere and work's ST unit
is Joule.

B
21. B) L I
C
A C

On combining the statements 1 and 2

B

C
A

22. (D) Both the action should be taken the insti-
tutes board objectives should be redefined and a
practical plan should the prepared for any work.
Since, the institute has not done the work with
the action plan. So, a report should be formed
on it.

23. (C) Number of odd days in (1600 + 300)
years = (0+1)

78 years = 19 leap year + 59 ordinary years

= (38 + 59) odd days.

=97 odd days.

= 6 odd days.

12 days of January have 5 odd days.

*. Total number of odd days=1+6+5
=5 odd days

Hence, total desired day was friday.

4 7 10 13 16

3 +3 +3 +3

24. (D)

=] [=] =17 i (=] [=] 225 ) [m]
- '
A =15 =] : =1:
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